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40% 6% x (1—25%)
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(2) AR 35 3T A Ak A=3. 75% X 25%+3. 528% X 25%+17. 76% X 50%~=10. 70%
2. (1) EBIT= (100-60) X2-60=20 (7 )
EBIT= (100-60) X3-60=60 (7 7T)
EBIT= (100-60) X4-60=100 (7 7T)
(2) DOL=80/20=4 DOL=120/60=2  DOL=160/100=1. 6
(3) AT HThe, BHEAAFHTTOHLT, #HESAKR, BT R L]
Ak 22 78 R [ AR )
3. (1) TCM= (60—30) X10=300 (77 )
(2) EBIT=300-200=100 (7 )
(3) DOL=300/100=3
(4) DFL=100/[100-60X12%-10/ (1-25%) 1=1.26
(5) DCL=3X1.26=3.78
——— 600x10% %100 — (600 x10% + 750 x12%) x 150

4, EBIT = =330 (# )
100-150
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(1) HAH T2 nx A

6% x (1—25%)
(1-1%)

BATHEZ T2 m A= x100% =4. 55%

\ES}}

8% x (1—25%)
(1-5%)

i A F e m A= x100% =6. 32%

2% (1+5%)
10x (1-5%)

2x(1+5%)
10

BT R A= +5%=27.11%

B 5K ST m A= + 5% =26%

(2) HH#H=FFTLEH, B

AT A2 b % 5 8| £ 16=200/1000 X 100%=20%

% & % # K 50E 4 H=300/1000 X 100%=30%

L BAL & % L HE £ =400/1000 X 100%=40%

B A5 b % S HE £ 16=100/1000 X 100%=10%

() HHZLETERA

L5 AT A AR =4, 55% X 20%+6. 32% X 30%+27. 11% X 40%+26% X 10%=16. 25%
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